WV
60 S HANSAVFLEX

L}
#O1-3 KBISBLL B R
EHRR1-3  24°W

L7y DIN 3865

garX T

gges 160 0 ), JE AR

3 .| HHERSN BN EE
¥ 2]

RERP BERE

2

BRZER. FA, ENAENATHTHERENHATESHERRERNERER,

iR
BN TG AR — DR

LR IHEED B ENR O

(mm)

WV NW 06 HL L PN 160 8 M14x1.5 4,5 14,0 29 14 17
WV NW 08 HL L PN 160 10 M16x 1.5 6,0 15,0 30 17 19
WV NW 10 HL L PN 160 12 M18x1.5 7,5 17,0 32 19 22
WV NW 13 HL L PN 160 15 M22x1.5 10,0 21,0 36 19 27
WV NW 03 HS S PN 400 6 M14x1.5 3,0 16,0 31 14 17
WV NW 04 HS S PN 400 8 M16x 1.5 4,5 17,0 32 17 19
WV NW 06 HS S PN 400 10 M18x 1.5 6,0 17,5 34 19 22
WV NW 08 HS S PN 400 12 M20x 1.5 7,5 21,5 38 22 24
WV NW 13 HS S PN 400 16 M24x1.5 10,0 24,5 43 24 30
HRRFLL=FFER =B S=E - PN=FIEESH PB=RAIEEN

FREE

XWV  RE iR, EERS, EE(THF SRR M AR

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
16.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



